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1. What is the point of intersection between
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3. What is the point of intersection between
Ix=y+4 and 7x-y+16=0




4. Consider the following system of linear equations

2x + 3y - + 6=0
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Which of the following statements is true?

A. The system has an infinite number of solutions

B. The system has a unique solution

( C. The system has no solution. >

. The system has tWo's N2 \

Answer:
5. Given the following system of equations. (LX 5&6_ ¥\, =0 X—’bx :’LQ
~ Y% A TP SOV W -
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What is the solution for this system? —0.T % 03 %
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6. Line 1 and line 2 are perpendicular. NRS line 2

(2,20)
What is the equation that defines line 1?

What is the equation that defines line 27 Y
What is the point of intersection between lines 1 and 2?
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Q. Gk Unw & padions, o (3,35)
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POL (XD, 2BsL% )




